حل التدريب (10.3  )
2 x + 4 y = 0 
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اذا معكوس مصفوفة الامثال هو                            [image: image26.png](e Zijs)
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             x = - 2   ,  y = 1
الطريقة الثانية :
[image: image38.png]


     [image: image40.png]


                                    [image: image42.png]


     [image: image44.png]


     


                              [image: image46.png]- o



     [image: image48.png]


                                              [image: image50.png]- o



     [image: image52.png]


       


                           [image: image54.png]- o



     [image: image56.png]


        

اذا  :       X = - 2               ,          Y = 1                  
*********************************************
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